

الف) $2n^2 + 3n^2 - 8n + 7 \mid n-1$ $2n^2 + 3n^2 - 8n + 7 \neq 0$
 $(n-1)(2n^2 + 5n - 7) \neq 0$ $2n^2 + 5n - 7$

$\Delta = 25 - 4(2)(-7) = 69$ $n_{1,2} = \frac{-5 \pm \sqrt{69}}{4}$ $\frac{1}{2} \in \mathbb{R} \setminus \{1\}$
 ب) $2n^2 + 9n^2 + 10n + 7 \mid n+1$ $(2n^2 + 11n + 7)(n+1) \neq 0$
 $\Delta = 121 - 4(2)(7) = 25$ $\frac{-11 \pm 5}{4} = -1, -\frac{1}{2}$
 $D_f = \mathbb{R} - \{-3, -1, -\frac{1}{2}\}$

الف) $n^2 - 2n^2 + 2n - 1 \neq 0$ $n^2 - 2n^2 + 2n - 1 \mid n-1$
 $(n-1)(n^2 - n + 1) \neq 0$ $\Delta = 1 - 4(1)(1) = -3$ $\Delta < 0 \Rightarrow D_f = \mathbb{R} - \{1\}$

ب) $\frac{n+3}{n^2 - 2n^2 + 2n - 1} \geq 0$ $\frac{n+3}{(n-1)(n^2 - n + 1)} \geq 0$

$n+3$	$-$	0	$+$	$+$
$n-1$	$-$	$+$	$-$	$+$
$n^2 - n + 1$	$+$	$+$	$+$	$+$

 $D_f = (-\infty, -3] \cup (1, +\infty)$

$2n^2 - 5(n-1) - 2n + 5 \neq 0$

$n \geq 1 \Rightarrow n-1 = n-1 \Rightarrow 2n^2 - 5(n-1) - 2n + 5 = 2n^2 - 7n + 10$
 $2n^2 - 7n + 10 \neq 0$ $(n-5)(2n-2) \neq 0$ $n \neq \{2, 5\}$

$n < 1 \Rightarrow n-1 = -(n-1) = -n+1 \Rightarrow 2n^2 - 5(-n+1) - 2n + 5 = 2n^2 + 3n$
 $2n^2 + 3n \neq 0$ $n(n+3) \neq 0$ $n \neq \{-3, 0\}$

الف) $|2n+1| - |n+3| \neq 0$ $|2n+1| \neq |n+3|$
 برابر شدن کرده ناقص ها می باشد در این صورت
 $2n+1 = n+3 \Rightarrow n=2$ $2n+1 = -(n+3) \Rightarrow 3n = -4 \Rightarrow n = -\frac{4}{3}$
 $D_f = \mathbb{R} - \{2, -\frac{4}{3}\}$

ب) $|2n+1| - |n+3| \geq 0$ $|2n+1| \geq |n+3| \xrightarrow{(\cdot)^2} (2n+1)^2 \geq (n+3)^2$
 $4n^2 + 4n + 1 \geq n^2 + 6n + 9$ $3n^2 - 2n - 8 \geq 0$

$3n^2 - 2n - 8$	$+$	0	$-$	$+$
n	$+$	0	$-$	$+$

 $D_f = (-\infty, -\frac{4}{3}] \cup [2, +\infty)$

الف) $\log n$ $n > 0$ ① $1 - \log n > 0$ $1 > \log n$ $n < 10$ ②
 $D_f = \textcircled{I} \cap \textcircled{II} = (0, 3)$

ب) $\log \frac{1}{n}$ $n > 0$ ① $1 - \log \frac{1}{n} > 0$ $1 > \log \frac{1}{n}$ $\frac{1}{n} < 10$ ②
 $D_f = \textcircled{I} \cap \textcircled{II} = (0, \frac{1}{10})$

$$\log_0^{r_{n-1}} \quad r_{n-1} > 0 \quad r_n > 1 \quad \boxed{n > \frac{1}{r}} \quad \textcircled{I}$$

$$\log_0^{\log_0^{(r_{n-1})}} \log_0^{(r_{n-1})} > 0 \quad r_{n-1} > 1 \quad r_n > 2 \quad \boxed{n > 1} \quad \textcircled{II}$$

$$\log_0^{\log_0^{(r_{n-1})}} \log_0^{(r_{n-1})} \geq 0 \quad \log_0^{r_{n-1}} \leq 1 \quad r_{n-1} \leq 0 \quad r_n \leq 2 \quad \boxed{n \leq 3} \quad \textcircled{III}$$

$$D_f = \{1, 3\}$$

الف) $(r \cos n + 1) > 0 \quad r \cos n > -1 \quad \cos n > -\frac{1}{r}$ $\frac{1,0}{r}$

$$D_f = (r k \pi - \frac{r \pi}{r}, r k \pi + \frac{r \pi}{r}) \cup (r k \pi + \frac{r \pi}{r}, r k \pi + \pi)$$

ب) $\frac{n-1}{n+1} > 0 \quad \frac{-1}{+} \frac{1}{-} + \quad \cup \quad \frac{n > 1}{n < -1} \quad \log \frac{n-1}{n+1} \geq 0 \quad \frac{n-1}{n+1} \geq 1$

$$n-1 \geq n+1 \quad -1 \geq 1$$

$$D_f = \emptyset$$

اگر $a = -2$ $\rightarrow \sqrt{-2n+b} \geq 0 \quad -2n+b \geq 0$

اگر $n=2$ $\rightarrow$ عبارت عددی صفری شود

$$-2(2) + b = 0 \quad \boxed{b = 4}$$

$$\begin{cases} a > 0 \\ \Delta \leq 0 \end{cases} \quad f - f(1-m^2) \leq 0 \rightarrow f - 1 + fm^2 \leq 0 \rightarrow -f + fm^2 \leq 0$$

$$\rightarrow fm^2 \leq f \rightarrow m^2 \leq 1 \rightarrow -1 \leq m \leq 1$$

$$\max_{\min} = 1 - (-1) = 2$$

$$f - n^2 \geq 0 \rightarrow f \geq n^2 \rightarrow -2 \leq n \leq 2$$

$$[n] + [n] + 1 \neq 0$$

$$[-n] = -[n] - 1 \quad \text{or} \quad [-n] = -[n]$$

اعداد صحیح $n = -2 \rightarrow -2 + 2 + 1 = 1 \neq 0 \checkmark$
 $n = -1 \rightarrow -1 + 1 + 1 = 1 \neq 0 \checkmark$
 $n = 0 \rightarrow 0 + 0 + 1 = 1 \neq 0 \checkmark$
 $n = 1 \rightarrow -1 + 1 + 1 = 1 \neq 0 \checkmark$
 $n = 2 \rightarrow 2 - 2 + 1 = 1 \neq 0 \checkmark$

عدد صحیح درامند
 مجموع صفری اند

$$\frac{x-1}{x+1} \geq 1 \rightarrow \frac{x-1-x-1}{x+1} \leq 0 \rightarrow \frac{-2}{x+1} \leq 0 \rightarrow x < -1 \quad | \cdot (-1)$$

$$D_f = (-\infty, -1)$$